A #L R &

S 64F 68 3HARL RBIEE % 6 5

H £ FEANEFTERAIZT(IRX)
ZHEE 83,462,500 ¥ E 4% 92,736,600

(75,875,000 x 1.10) 246 30 R AT 83,462,500

_ LB TEE 2EH 3EH BR

1 KR RRERTEEREESN 75,875,000

2 L -FEER IS ERTENA 75,875,000

3| BEARERIEERTER 75,875,000

4 (R FHFERTIFARLENR 75,875,000

5 |EF-RKEEHRTEHRILENR 75,875,000 LIZKYRE

6 /MR- ILERRTIFHARLENR 75,875,000

7 BE CEERIZERTER 75,875,000
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A #L R &

S 64F 68 3HARL RBIEE % 7 =
H £ FEANEFTERAISZ(2IR)
e 79,567,400 ¥ E 4% 88,409,200
(72,334,000 x 1.10) 246 30 R AT 79,567,400
_ AALE TEE 2EH 3EH BR
1 KR RRERTEEREESN 72,334,000
2 [IUE-HEERTE=HRLER 72,334,000 LIZEYRTE
3| BEARERIEERTERF 72,334,000
4 (R FHFERTIFHEARLENR 72,334,000
5 [EF-XEERTIEHERTEA BREVE
6 /MR- ILERRTIFHARLENR 72,334,000
7 BE CEERIZERTER 72,334,000
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A f A E

4 6% 68 SHAM#L IS B 12 &
H £ B At 205N ERAIERRIE

Y& EE 4,919,200 F X i 4% 5,465,900

(4472000 x 1.10) 246 30 R AT 4.919,200
AfLE 1B H 2@ H 3[EH ER

1|(F)—HEREER PEXE ;3N
2 |(B) KIpEH 4,472,000
3 [hIETZE 4,472,000 CIZ&YRE
4 [(A) %R iR
5 |(A)AXTILEE 4,472,000
6 |(B) KEBIE% 4,472,000
7 | (¥k) 5% 4,919,000
8 [((A)T =K iR
9 [ EEpE % (%) iR
10[ (%) KIELX REER 4,472,000
11[(3&)PIT 4,472,000
12((A)FZFT 4,472,000
13| (k) R EE 4,969,000
14[EERTE HE
15|V LB E (%) 4,472,000
16| (%) IL#R iR
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S 64£ 68 3HA# IS & 11 &
H % FRETHREFREEXNKRIE
e EE 1,870,000 F E i 4% 1,969,000
(1,700,000 x 1.10) 246 30 R AT 1,772,100
AfLE 1[EH 2[AlH 3[EH ER
ZEITXMR) PRIZER 1,720,000
(B)AMSAEHK PRIEXERT 1,700,000 ZEFL
(B)tE7T74—)—F hREIEEF 1,720,000
(B£))ao ¥ hRExZE 1,720,000
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4 6% 68 SHAM#L BEIES ¥ 15 &
H % BEEGhEBEANSEERFEIEUIR)

ZHEEE 2,930,400 F X i 4% 3,279,100

(2,664,000 x 1.10) 246 30 R AT 2.930.400
AfLE 1[EH 2[AlH 3[EH ER

1[(B)—EREESR FRXE 3
2 [(B) KinpEsx 2,870,000
3 [hIETE iR
4 [(A) %R iR
5 | (B)AXTILERR R
6 |(B) KEiE% 2,664,000
7 | (¥k) 5% 2,930,400
8 [((A)T =K iR
9 [ EFpE R (%) iR
10 () KIEEX REER 2,664,000 CICKYRE
11[(3&)PIT 2,664,000
12((A)FZFT 2,664,000
13| (k) R EE 2,664,000
14|EEEIE 2,664,000
15|V LB E (%) 2,664,000
16| (%) IL#R TR
17
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